Parallelogram - A quadrilateral with both pairs of opposite sides congruent and
both pairs of opposite sides parallel.
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Quadrilateral PQRS is a parallelogram.

A. What is the value of x? _7><—’:> = 2%
Sx= 5

SOLUTION X=5

B. What is the length of each side of PQRS?
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2. The 600-meter fence around City Park forms a
parallelogram. The fence along Chaco Road is
twice as long as the fence along Grover Lane.
What is the length of the fence along Jones
Road?

Chaco Rd.

Village Dr.

(o x= bLoo
X = /00 w



Parallelogram - A quadrilateral with consecutive piars of angles supplementary.

If a quadrilateral is a parallelogram, then its
consecutive angles are supplementary.

"AB || DC B > C
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"m4A + m«B = 180

msZB + mZC = 180

mZC + m£ZD = 180
msZD + mZA = 180




Parallelogram - A quadrilateral with both pairs of opposite angles congruent.
AB || DC B 7 C
AD |l BC ,[ ]

A= D

LA~ /ZC
ZB ~ 2D




4. Use the parallelogram shown. H

(@ +5)
a. Given parallelogram GHJK, what is the value J
of a? (8a —5)°
XYY Be— 5 = go G
9o = I¥D K
mLH= 2S
Wl =SS
* AS
b. What are m£G, m£ZH, m£J, and mzZK? male> &



Parallelogram - A quadrilateral with both diagonals bisecting eachother.

WX Il zy A
A
WZ Il Xy ~ Ty

AW =~ AY
AX =~ AZ



5. Use parallelogram RSTU with SU = 35 and
KT =19.

a. What is SK? = 17.s

b. What is RT? = 3%



6. Given parallelogram GHJK, if PK = 4 and HK = %(GJ),
what is GP?

3= @)
loa= &3
GP=S=¢



Use parallelogram ABCD to find BC.
DOX-L=nr+Yy ol = Z—2
> _2 — =3
X 2?_ ) “ =~
X< ¢
x=2

Use parallelogram ABCD to find BD. =/0




Use parallelogram WXYZ to find m£W XY.

Use parallelogram WXYZ to find m£XYZ.
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Use parallelogram EFGH to find EJ.

Use parallelogram EFGH to find FH.



Use parallelogram MNPQ to find m£LNPQ. =5¢
GL24++i4= 150
12€ ¥72 = ) ¢o
2€= 168
+ =14
Use parallelogram MNPQ to find m£ZPQM. =24
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